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understood that the recommenda-
tions of the Seminar mainly

dealt with the mnature and role of
support prices, relevant data for
determining them and difficulties in
using these data. The Seminar also
emphasized the need for procuring
adequate quantities of foodgrains for
sale through public distribution sys-
tem and the importance of
drawing up the National Food
Budget.

(b) While formulating the food
policy, due consideration is given to
the issues referred to in (a) above.

Crash of Dakota of Ealinga Airlines
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Will the Minister of Clvil Aviation
be pleased to state:

(a) whether a Kalinga Airlines
Dakota crashed near Mohanbarl in
Assam on or about 17th October, 1965;

(b) if so, the number of persons
killed/injured in the accident; and

(¢) the causes thereof?

The Minister of Transport (Shri
Raj Bahadur): (a) and (b). A Dakota
aircraft belonging to Kalinga Airlines
crashed on 17th  October, 1965
approximately 23 miles north of
Mohanbari resulting in the dealth of
all the 8 occupants of the aircraft.

(c) The accident is under investiga-
tion.
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